
Missing Numbers

Fill in the missing numbers

= 100+50 50

= 105+45

= 104+ 90

= 115+50

= 100+ 25

= 125+65

= 107+ 77

= 118+30

= 100+ 20

= 149+70

= 102+ 50

= 133+43

= 108+ 88

= 109+10

= 115+ 70

= 112+60

= 145+ 55

= 120+50
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Fill in the missing numbers

= 100+50 50

= 105+45 60

= 104+14 90

= 115+50 65

= 100+75 25

= 125+65 60

= 107+30 77

= 118+30 88

= 100+80 20

= 149+70 79

= 102+52 50

= 133+43 90

= 108+20 88

= 109+10 99

= 115+45 70

= 112+60 52

= 145+90 55

= 120+50 70


